O 2 @ -2 @ -2x-2

x3—2_x3—2x+2x—2_x 2x—2
x2-2 x2 =2 B x2 =2
L2 x, WA 20— 2




O f(x) =53 + 262 - x+k7F Q24 x - 12 IR 7HE o, o]
o34 f(x)E a2l sha?

O (x-2)(x-1)(x+1) @ (x—1)x(x+2)
@DUH&Xx—DQ+2) @ (x-2)(x-1)(x+2)

® (x-2(x+1)(x+2)

B

f)=(x-1)0(x) = f(1)=0

W f()=2+k=0, - k=-2

L fx)=x3+2x2 - x-2
=x-1)x+1)(x+2)

=
=




x3 = 6x% + 11x — 6= Q14-E3] 5}H?

D (x+1)(x=2)(x+3) @ (x-1)(x+2)(x+3)

@ (x4+1)(x+2)(x-3)




4. k2 #tol TAQIO)(2k% - 3k)x — (k + 2)y — (k* — 4)z = 289]
AL S x,y, 29 22 AL o, 3x +y + 29 727

® 1 @ 2 @3 @ ® 5

v

otk

~&B

F017 A& kol sl A =lstH

(2x—2)k? = (Bx+y)k— (2y -4z +28) =0

Lo 2x-2=0,3x+y=0,2y-4z+28 =0
72=2x, y=-3x = 2y—4z+28 = 0°f f4sIHA
x=2,y=-6,z=4

L3x+yt+z=4




T £(x) 2 (3x+2)(x—4) B Uie UHAZF —2x+1 wf, f(x2+3)
x— 18 Uae Yo 2]=?

KN
=

© 7 @ 4 ® 0 @-1 Q)7

B

) =0Bx+2)(x-4)0x) -2x+1---@
fP+3)=(x-1)Qx)+R @

@] FH x =45 HYSHH f(4) = -7
@9 FHoll x=1& HYstA f(4) =R

. R=-T




(2x-1)(2y-1)

_101 I[H 1o
6. 2x-1)2+(2y-1)2 27 ¥y BT
1 1 1 1

©-; @-; 0 ® 5

B

2x—1=u, 2y—-1=vetE°H

uy 1
—_— A
e 5 A
u? +v? = =2uv, (u+v)2=0
“ut+v=0

@2x-1)+(2y-1)=0,x+y=1




7. n'—6n* 4259 gro] 257t HA She B n o] Aee?

® 17 @27 ® 47
® gt ® 743 gt

B

p=n*-6n>+25

=n* +10n* + 25 - 16n°

= (n? 4+ 5)% — (4n)?

= (n?+4n+5)(n®> - 4n+5)
p7t AFOIER n2 4 4n+5=1
T+ n? - 4n+ 5 = 10]oJofF g},
nt+dn+4=n+2>%=0°4n=-2
n?—dn+4=mn-22=0°An=2
wetq ahe n e = Aoltt,







9.  a(b®-c?) +b(c®-a?) +c(a® - b?) = AFEoHSHAH?

@® —(a=b)(b-c)(c-a) @ (a=b)(b-c)(a-c)
® —(b-a)(b-c)(c—a) @) (a-b)b-c)c-a)
® (a=b)(b-c)(c+a)

8

(FA) = (¢~ b)a® + (b* = *)a+ be(c - b)
= (c—b){a® - (c + b)a + bc}
=(c=b)(a-b)(a-c)
=(a=-b)(b-c)(c—a)




10.

x+y+z2=0, 2x—y—Tz =32 FA UHFAZ]= x,y,z0l st
ax® +by? +cz2 =101 AHS W), a4 b + ¢ 9] & F5HH?

B ~
() x+y+z=0, 2x—y—-"T7z=3°A
x, y& zo tisto] LehyH
x=2z+1, y=-3z-1
(i) x=2z+1, y=-3z—1-Z ax® + by? + cz> = 1 ol U3}t
Bejota
(4a+9b+ )z +2(2a+3b)z+ (a+b-1)=0
4da+9b+c=0,2a+3b=0,a+b-1=0
ca=3,b=-2,c=6
ca+b+c="7




11. 1999709 thabAl x2 —2x—1, x2 —=2x =2, ---, x2 = 2x — 1999 9] A
A7k 449 Qa4 0] Fo 2 Q4Re] H AL BE B A

@sH @wuil G5H @A 6 A

B ‘

x2=2x-n = (x+a)(x=b) (a, b = AA5) 25 (1 < n < 1999
Al A4

ab=n, a=>b-2

n=1-3,2-4,3-5 ---, 43-45(=1935) ] 437}




12, x*+3x2 + 45 vl27 QASE)5E ALY

O (FP+x+1)(x*>-2x+1) @ (X +2x+2)(x* —x+2)
@(xg—x+2)(x2+x+2) @ (P+x-1)(x*-2x+1)

® (P+x-2)(x>+x+2)

P +3x%+4 = (x + 42 +4) -7
=(x2+2)2-x2
=2+ x+2)(x*-x+2)




13. Al A ab,c7ta+b+c=3, a2 +b>+c*>=9, a®>+b%+c3 =24
S 2D o, ot + b + * + 19 FHS F5HH?

@ 69 @70 ® 71 @ 72 ® 73

B \

atb+c=3---O©

2+’ +c?=9---Q

a®+ b 4¢3 =24..-Q o]zt 514,

@4 A
aA+b*+c2=(a+b+c)?-2(ab+bc+ca)=9
9-2(ab+bc+ca) =9

“ab+bctca=0 ---@

@4l A

a+ b+

= (a+b+c)(a®+b?>+ c?—ab - bc - ca) + 3abc
24 =3 (9-0) + 3abc

“abc=-1 ---®

at+b*+ct+1

= (@® + b® + c?)? - 2(a®b® + b2 + ?a®) + 1
=81-2-64+1=170

(o a®® + b2 + 2a?

= (ab + bc + ca)? — 2abc(a + b + ¢)
=0-2x(-1)x3

= 6)




14.

2.2 2.2 | 2.2 2.2 2.2 | 722
bx(a®x* + 2a%y? + b%y?) +ay(ax +2b°x +b)’)% 7Heka)
bx + ay bx + ay
HY
D a?x? 4 b?y? @(ax+by)2
® (bx + ay)? @ 2(a’x* + b%?)

® (ax+ by)(bx + ay)

B

(A= bx(a®x? + 2a%y* + b*y?) + ay(a®x* + 2b°x* + b*y?)
= bx(a®x? + b%y?) + 2a*bxy?* + ay(a®x? + b*y?) + 2ab*x?y
= (a®x? + b%y?)(bx + ay) + 2abxy(ay + bx)

= (bx + ay)(a*x? + 2abxy + b?y?)

= (bx + ay)(ax + by)?

mHebA], (= A= (ax + by)?




15. o= A (a+ b+ c)(ab+ bc + ca) — abe 2] A7} o AL7

D a+b @ b+c ® c+a

C@)b—a ® -b-c

B

7Nt aoll it WA= 2 A5t
(a+ b+ c)(ab + bc + ca) — abe

= (b + c)a® + (b® + 2bc + c?)a + be(b + ¢)
= (b+c){a®+ (b+c)a+bc}
=(b+c)a+b)(a+c)

L@ b-av A7 oYt




